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BE/B.TECH DEGREE EXAMINATIONS, NOV/DEC 2010

- SIXTH SEMESTER

CIVIL ENGINEERING
CE1354—DESIGN OF RC ELEMENTS
(REGULATIONS 2007)

Time: Three hours Max Marks: 100

Answer all the questions
PARTA-({0x2=20 Marks)

Write any four basic assumptions in Limit state method
of Concrete.

Distinguish between ‘Balanced sections’, ‘under reinforced
section’ RC beams.

What is the different edge conditions considered for design
of slabs?

When doubly reinforced sections are necessarily designed?

What is meant by Diagonal tension failure of RC beams?

How development lengths are important in design of RC
beams?

What are uniaxially loaded columns and biaxial loaded

columns? Give examples.

Explain when a column is considered as a short column or
a Long column in the design of RC columns.




[image: image2.png]9.  Explain under what circumstances combined footing
necessary for columns,

10.  What is meant by punching shear? How it can be checke

PART B-(5x16=80 Marks)

11. a. Design a Reinforced. Concrete rectangular
beam  section subjected to a moment of
100 kNm, using concrete M20 and steel
grade Fe 415 Assume depth of beam as twice
the width of beam: Use working stress
method

Or

b. Design a T beam section 1500 mm width of
flange, depth of flange 100 mm. web widths,
300 mm and effective depth of web 600 mm.
The beam is subjected to a design moment of
150 kNm., Use M25 concrete and steel Fe
415. Use working stress method.

12. a. Design a simply supported one way slab of
Plan area '10m x 4m. The walls supporting
the slab are’ 230 mm thick. Live load, 4
kN/square meter. Floor finish load 1
kN/square meter. Concrete M 25, Steel Fe
415, Use Limit state design method.

Or

b. Design a rectangular beam by limit state
method. The beam is subjected to an
Ultimate moment of 150 kNm. Grade of
concrete M20,Steel Fe 415.
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14.

15.

A rectangular beam of 300 mm width and
effective depth 500 mm is reinforced with
four bars of 20 mm dia. Determine the shear
reinforcement required to resist a shear of 75
kN at service state. Use limit state method.
Mustrate the design with a sketch showing
reinforcements.

Or

Give examples of RC elements where design
for torsion is necessdry How will you design a
RC beam section subjected to Flexure,
Torsion and Shear?Draw a sketch to show
how reinforcements are provided to resist
torsion.

Determine the ultimate moment capacity of a
column 400min x 400mm reinforced with six
28 mm dia bars. Concrete Grade M25 and
Steel Fe 415. Height of column between the
floors is 4.0m.What is the limitations for
providing lateral ties. Use Limit state design.

Or

Discuss the importance of quality and safety
in construction projects.

Design a circular column subjected to an
axial load of 1500 kN at service state.
Concrete M25 and Steel Fe 415.The effective
length of column is 3.3m.

Or

Design a Reinforced conerete footing for a
Column of size 400x400mm subjected to an

K 158
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